

Sumar Enteros (E)

Emplee una estrategia de enteros para encontrar cada respuesta.

$76 + 24 =$

$(-50) + (-82) =$

$11 + (-98) =$

$53 + (-27) =$

$(-39) + (-90) =$

$92 + (-55) =$

$5 + 18 =$

$84 + 61 =$

$(-34) + (-95) =$

$67 + 96 =$

$(-23) + (-5) =$

$(-6) + 94 =$

$54 + 15 =$

$53 + (-14) =$

$45 + 92 =$

$(-92) + (-13) =$

$(-29) + 41 =$

$60 + 86 =$

$26 + (-53) =$

$61 + 4 =$

$33 + (-25) =$

$65 + 87 =$

$(-43) + (-1) =$

$(-34) + 32 =$

$47 + 79 =$

$(-24) + 29 =$

$(-43) + 94 =$

$13 + 76 =$

$(-15) + 67 =$

$93 + (-59) =$

Sumar Enteros (E) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

$$\begin{aligned} 76 + 24 &= \\ &= 100 \end{aligned}$$

$$\begin{aligned} (-50) + (-82) &= \\ &= (-132) \end{aligned}$$

$$\begin{aligned} 11 + (-98) &= \\ &= (-87) \end{aligned}$$

$$\begin{aligned} 53 + (-27) &= \\ &= 26 \end{aligned}$$

$$\begin{aligned} (-39) + (-90) &= \\ &= (-129) \end{aligned}$$

$$\begin{aligned} 92 + (-55) &= \\ &= 37 \end{aligned}$$

$$\begin{aligned} 5 + 18 &= \\ &= 23 \end{aligned}$$

$$\begin{aligned} 84 + 61 &= \\ &= 145 \end{aligned}$$

$$\begin{aligned} (-34) + (-95) &= \\ &= (-129) \end{aligned}$$

$$\begin{aligned} 67 + 96 &= \\ &= 163 \end{aligned}$$

$$\begin{aligned} (-23) + (-5) &= \\ &= (-28) \end{aligned}$$

$$\begin{aligned} (-6) + 94 &= \\ &= 88 \end{aligned}$$

$$\begin{aligned} 54 + 15 &= \\ &= 69 \end{aligned}$$

$$\begin{aligned} 53 + (-14) &= \\ &= 39 \end{aligned}$$

$$\begin{aligned} 45 + 92 &= \\ &= 137 \end{aligned}$$

$$\begin{aligned} (-92) + (-13) &= \\ &= (-105) \end{aligned}$$

$$\begin{aligned} (-29) + 41 &= \\ &= 12 \end{aligned}$$

$$\begin{aligned} 60 + 86 &= \\ &= 146 \end{aligned}$$

$$\begin{aligned} 26 + (-53) &= \\ &= (-27) \end{aligned}$$

$$\begin{aligned} 61 + 4 &= \\ &= 65 \end{aligned}$$

$$\begin{aligned} 33 + (-25) &= \\ &= 8 \end{aligned}$$

$$\begin{aligned} 65 + 87 &= \\ &= 152 \end{aligned}$$

$$\begin{aligned} (-43) + (-1) &= \\ &= (-44) \end{aligned}$$

$$\begin{aligned} (-34) + 32 &= \\ &= (-2) \end{aligned}$$

$$\begin{aligned} 47 + 79 &= \\ &= 126 \end{aligned}$$

$$\begin{aligned} (-24) + 29 &= \\ &= 5 \end{aligned}$$

$$\begin{aligned} (-43) + 94 &= \\ &= 51 \end{aligned}$$

$$\begin{aligned} 13 + 76 &= \\ &= 89 \end{aligned}$$

$$\begin{aligned} (-15) + 67 &= \\ &= 52 \end{aligned}$$

$$\begin{aligned} 93 + (-59) &= \\ &= 34 \end{aligned}$$